

$$3. e^{7x-y} + y^2 = 2x$$

$$\frac{d}{dx}(e^{7x-y}) + \frac{d}{dx}(y^2) = \frac{d}{dx}(2x)$$

$$e^{7x-y} \cdot \frac{d}{dx}(7x-y) + 2yy' = 2$$

$$e^{7x-y} \cdot (7 - 1 \cdot y') + 2yy' = 2$$

$$7e^{7x-y} - y'e^{7x-y} + 2yy' = 2$$

$$2yy' - y'e^{7x-y} = 2 - 7e^{7x-y}$$

$$y'(2y - e^{7x-y}) = 2 - 7e^{7x-y}$$

$$\frac{y'(\cancel{2y} - e^{7x-y})}{\cancel{2y} - e^{7x-y}} = \frac{2 - 7e^{7x-y}}{2y - e^{7x-y}}$$

$$y' = \frac{2 - 7e^{7x-y}}{2y - e^{7x-y}}$$

$$y' = \frac{2 - 7(2x - y^2)}{2y - (2x - y^2)}$$

$$y' = \frac{2 - 14x + 7y^2}{2y - 2x + y^2}$$

RECALL

$$e^{7x-y} + y^2 = 2x$$

$$e^{7x-y} = 2x - y^2$$

So now plug this
into our problem